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Sipdt Sgn&Sed  MATHEMATICS (9th) — New Book ~ ROLLNUMBER

NOTE: There are three sections of this paper. Carefully read the instructions for each section and attempt
accordingly. Attempt all questions of Section-A and return it to the Superintendent within given time,
even If you have not attempted any question. No marks will be awarded for cuttingferasingfoverwriting.

SECTION-A
Time Allowed: 20 Minutes Max, Marks: 15

1. There are four possible answers (A, B, C, D) for each question. Select the correct one and write it in the
answer box.

i m“xz:ﬁi then what wil be value of x? (A) 5. B) 84, ©) §, D) Bl &

il. If*A"is a square matrix and a'=Afsa ....... matrix. [A) skew symmetric, B) symmelric,
G) diagonaly D) NORE OFINBEE] il amsmissnsssiives v isnssdresitiondsessussicbivess fothsis et ibbissssiisdidiassintshy

iii. ~Which one is the base of common logarithm? [A) 1, B)e, C) 10, D} Zero].......coumsvrmmmsimasnesens

8 () =i AL o T3] v T SRR |

v, Which one is the HCF of a*~b? and aZ+ab +b?? [A) (2 +b), B) s2+ab+b? C)(a~b), D) (a-bJ7...

vi. Whatis the LM of x3+ 8 and x+ 27 [A) x+2, B)x*+8, C) (x+2)(+8), D) ¥+16]..cccccircns

vil. ‘Which one Is the solution set of vx =—107 [A) {100}, B) (10}, C) {=10}, D) { rrrrrrrsrerssrmsiinen

vill. ‘Which lype of equationv/x+3 +2=11 is? [A) linear equation, B) radical equation,
. C) cubic equation, D) qUadratic BQUATIONT...........c..imermsmimimssmsimmmsssimssmmssissssiisssssspissatssisssssmes

ix. Inwhich quadrant lies the point (3,—4)? [A) quadrant-|, B} quadrant I, C) quadrant-IlI,
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x. Which one is the mid point of the segment AB, where A(3,0) and B(3.4)? [A) 33, B) 32,
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. Which oneis the sum of measurements of interior angles of quadrilateral? [A) 2 right angles,
B) 4 right angles, C) 3 rightangles, D) none of (ESE]............ccoiiiiiiinimimiimiiis st

wii. In an equilateral triangle, all the perpendicular bisectors are: [A) congruent, B) concurrent,
G) angies DISECtOr; | D) &l OFtRBSL]........u.covscreer s ormssmrmssssssss svntimssss sumsshssssspisssmisssssmssmsssisspsasisssapt Wassn

siil. ‘Which of these are the sides of a right angled triangle? [A) 234, B)345, C)458,
ST R T et R R o W N

«iv. Which one of a triangle are concurrent? [A) medians, B) perpendicular bisectors, C) altitudes,
< RS N S U0 e T S O o A

xv. How many obtuse angles can be there in a friangle? [A) at least one, B) at the most one,
C) two, B)vary from triangie 10 trangle] ..ot aiismisssmsmnsanisisiessi iesssessossronsss




